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HEFN 1148 14.2| 1,579 76| 5.2/ 2,262  15.3] 1,660 74 4.6 2,186
12 15.6|  1,742| 78|  5.4] 2,255  16.2] 1,662 75 4.5 2,228
13 15.1] 2,165 76| 5.4/ 2,167 15.9] 2,522 74 4.€] 2,021
14 15.1] 1,473 .- el 15.8] 2,134 75 4.1] 2,189
15 15.1 1,318 15.9 1,591 74 4.5 2,363
16 15.2| 1,181 79| 5.4/ 1,951  16.1] 2,430 76 4.5| 2,001
17 15.8] 1,614 75| 5.2/ 2,368  16.4| 1,562, @ 73 4.4| 2,444
18 14.6| 1,536 76| 5.0/ 2,312] 15.8] 1,473 ) 4.3] 2,390
19 14.1| 1,406 78] 5.0/ 2,078 15.3| 1,701 74 4.2| 2,280
20 e | 80 el el 14.9] 1,980 75 3.3] 2,235
21 15.3| 1,208 85| 6.¢| 1,717  16.1] 1,552 78 4.4 2,198
22 14.2| 1,522 81 4.8 2,033 15.1 1,178 76 4.2] 2,34
23 15.7] 2,039 80| 5.9 1,963 16.3] 2,132 79 4.0 2,290
24 15.3|  1,752| 78| 4.9 2,167  15.6| 2,163 71 5.2| 2,294
25 16.1 1,754 78 6.1/ 2,022 16.3] 2,183 75 5.0 2,254
26 15.¢] 2,006 78| 5.6 2,020 16.4] 2,226 74 4.8 2,279
27 16.4| 2,043 78/ 6.5/ 1,903  15.9 2,000 751 5.0 2,133
28 15.0| 1,841 75/ 6.0/ 1,801 15.8| 1,722 73 4.8 1,927
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